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(A)  Rice (B)  Pulse
(C)  Milk (D)  Egg
(E)  None of these

of environment?

(A)  Air 
(B)  Water
(C)  Soil 
(D)  Insects
(E)  None of these

(A)  It is tasteless 
(B)  It is colourless
(C)  It is odorless 
(D)  It freezes at 100°C
(E)  None of these

(A)  Star (B)  Planet
(C)  Satellite (D)  Galaxy
(E)  None of these

(A)  It gets fast (B)  It gets slow
(C)  It remains same (D)  None of these
(E)  All of these

 +  =   +  + 

Find the weight of 

(A)  80 kg (B)  85 kg 
(C)  90 kg (D)  95 kg 
(E)  None of these

7. 
B.

(A)  7 (B)  30
(C)  27 (D)  37
(E)  None of these
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Answers
1. (A) 2. (D) 3. (D) 4. (D) 5. (A) 6. (D)

7. (D) 8. (B) 9. (C) 10. (A) 11. (B) 12. (A)

(A)  50120 (B)  50127 

(C)  30127 (D)  20127 

(E)  None of these

(A)   100 (B)   200 

(C)   300 (D)   400

(E)   None of these

(A)    (B)  

(C)   (D)  

(E)  None of these

mark.

(A)  Computer (B)  Wheel

(C)  Mobile (D)  Aeroplane

(E)  None of these

(A)  Grandson (B)  Son

(C)  Brother  (D)  Husband

(E)  None of these


